Subject: Re: Question about Tasks
Posted by Felix Boehmer on Wed, 11 Jul 2007 11:51:25 GMT

View Forum Message <> Reply to Message

Yes, sure.

| mean something different, but the longer | think of a proper way to describe it, the more I think
it is probably the best idea to let it go now

Suppose we have a run with 10 events. Imagine someone (me), who wants to have a
digitization task create an 11th event in the output tree that is independent of the real events,
that is then passed to all the remaining digitization tasks to be treated like the 10 real events.

Is that even possible.... in theory?
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